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import hashlib
for i in range(32,127):
for j in range(32,127):

for k in range(32,127):
m=hashlib.md5()

m.update( chr(i) chr(j) chr(k)

des=m.hexdigest()

if in des and in des and in des:

print des
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print (des)
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> import hashlib
>> for i in range(32, 127):
for j in range(32, 127):
for k in range(32, 127) :
m=hashlib. md5 ()
m. update (" TASC +chr (i)+ O3RJMV’ +chr (j)+ WDJKX +chr (k) + ZM’)
des=m. hexdigest ()
if 7e9032" in des and 'da’ in des and '911513" in des:
.. print des
File “<stdin>”, line 8
print des
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SyntaxError: Missing parentheses in call to ’'print’. Did you mean print (des)?

import hashlib
for i in range (32, 127) :
for j in range (32, 127) :
for k in range (32, 127) :
m=hashlib. md5 ()
m. update (" TASC’ +chr (i) + 03RJMV’ +chr (j)+ WDJKX +chr(k)+ ZM )
des=m. hexdigest ()
if 'e9032" in des and 'da’ in des and '911513’ 1in des:
print (des)

Traceback (most recent call last):
File "<stdin>", line 5, in <module>
TypeError: Unicode-objects must be encoded before hashing pynsmiog.csdn.netiweixin 47869330
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import hashlib
for i in range(32,127):
for j in range(32,127):
for k in range(32,127):

m=hashlib.md5()
m.update(des.encode. ( chr(i) j chr(k)
des=m.hexdigest()
if in des and in des and

print (des)
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in des and 911513’ in des:
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and 'da’ in des and '911513° in des:
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import hashlib
for i in range(32,127):
for j in range(32,127):
for k in range(32,127):
m=hashlib.md5()

m.update( .encode( )+chr(i).encode( .encode( )+chr(j).encode(

.encode( )+chr (k) .encode( ) .encode(

des=m.hexdigest()
if in des and in des and in des:

print (des)
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